Math 45 4.4 Word Problems with Linear Systems Ms. Carey

&
1)

2)

3)

4)

5)

6)

For each problem, write a linear system (or a single algebraic equation) and solve.

The sum of two numbers is 45. Twice the first number minus the second is 27. Find the numbers.

Fence on a lakefront property takes 240 feet for three sides, not including the lake. The width of the lot
is 30 feet more than the length, and the long side is on the lake. What are the dimensions of the
property?

Find the measures of two complementary angles such that the measure of the larger angle is 6° greater
than twice the measure of the smaller angle. Find the angles.

A small aircraft flying west 500 miles takes 5 hours against the wind. Returning east with the wind, the
trip takes 4 hours. Find the airspeed of the plane and the speed of the wind. '

Rafael and Edith are running a marathon for charity. Rafael runs 12 mph and Edith 10 mph. Rafael lost

" his car keys and went back while Edith started on time. Rafael started 15 minutes late. How long will it

take for him to catch up to her?

Two trains leave Chicago going opposite directions, one east, one west. The eastbound train goes 12
mph slower than the westbound. After 4 hours, they are 528 miles apart. Find the speed of each train.
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